'GROUP 6 STRUCTURE

1. CAB AND ACCESSORIES MOUNTING

Cab

VIEW A

T@&

Door latch
- Tightening torque
ltem Size kgf - m Ibf - ft
1 M6x1.0 0.49+01 35+0.7
2 | M8x1.25 25105 18.1+3.6
3 | M1Ox15 47+0.9 34+6.5

@
Striker
11079CM09
ltem Size kgf - m Ibf - ft
4 M10x 1.5 6.9+1.4 49.9+10.1
5 M12x1.75 12.8+3.0 92.6+21.7
6 | M16x2.0 29.7+45 215+32.5




2. CAB INTERIOR MOUNTING

Seat—
?1
“n Storage
4—q box cover
v 1 Aircon upper
et cover
Console i \‘ oy
box(RH) : Storage
Wiper motor___ e box
cover : 1 e 1)
Defroster e
hose cover
s
Travel
lever
Viscous
mount
Bottom plate
14079CM10
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 0.49+0.1 35+0.7 5 M10x1.5 6.9+1.4 49.94+10.1
2 M6x1.0 1.05+0.2 76+1.4 6 M10x 1.5 8.27+1.7 59.8+12.3
3 M8x1.25 343+0.7 24.8+5.1 7 M16x 2.0 29.7+45 215+325
4 M8x1.25 4.05+0.8 29.3+5.8 -

9-10




3. COWLING MOUNTING

Hinge assy

S
W\ Latch assy out

Body engine hood

7079CM11

- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M10x 1.5 6.9+1.4 49.9+10.1 2 | M12x1.75 12.8+3.0 92.6+21.7

9-11



4. COUNTERWEIGHT AND COVERS MOUNTING

Counterweight

> L

d
f
>é%1

N

%1
é;i1 70790M12
- Tightening torque
ltem Size kof - m Ibf - ft ltem Size kof - m Ibf - ft
1 | M10x15 69+1.4 49.9+10.1 3 M20 x 2.5 57.8+6.4 418+46.3
2 | M12x1.75 | 128+3.0 92.6+21.7 - - -

9-12




